i (R T N

— £ L e et T~

) T R a2 % Ak & /// s T

7 : J

\ 2 55374 5. s \
E % @
\

r

T’ 2=
//// \-
g \
\ T \ \
\ —
W \ oL o \ \
N AR V= o \ -
_ N : | )y, \\ P
= 7 7 W S SN e
~ - \ \ —
///// /// ¢ ) \— \ ’4“9(1\1 \ \ e
02000\ By = - < \ \ R
\\frea — = o 1; \ \ —
W\ Wi 7 % \ el
\ \\ % E // // 5 o424 : \ (‘-ﬁ)\ \ ] ‘\.
0 ; < e L\
2\\ 5 ~ o2~ p \
9| ~ = S 4 <>0 Y \ 1060 /35— \ \
\ > 7 \ ( j \\ v \ |
\ Q A T = ‘ A VW Y ! \
o 8273, - \ \ \ \
\ > b ¢ \ ! - -
\§ mg “ 440\ ’\‘@ \‘ \ 2026
B 4\ - T \
a o ) ‘ T ‘ ‘
- ~ \ o
B4s1 v y \ \\ — o
B452 =R
........ \ A2
\ B :
_ J {
/</</_/'/ > gg '\
/,/'/'/— /////— @‘;\\ \

26,38

25,50

- . $r 24 7P515 \ \ N\
.: - - | \
' ! / ff 557,66 \'\ \
N | 0B e / (NN
. S ; ; - \
\ i 40,02 : / \ \
\\ \ ) © oo' 513 20 )/ onu SR e b G O S = ’—\-\ \
3 \ | — 3 —- o e YV = = T \
L% \ \ \ \—”’ - © O\ 5 ® bt / ,:i\:” oy T \\ \
\ i 9 \ ) N T~ =\ T \ \
\ \ I 2 \ - _‘\ ul ? ~ T~ i T \'\ \
|| W [ o 1 == =~ | ' \
A\ 836 m \ 14 \ 3 [kl 2 J 0 m2 L
-------- . \ \\ 001 \\ T 4
///////// ) —'\ \ 55857 ‘\
,,,,,,,,,,,,,,,,,,,,,,, AL e P / .
/////////////// \Yi 7 \i < ! P \'\
””” (NE = - 58—
! g 34,50 ; 73 5608 | © 1O \
\ . — \ i \
\ \ o O:/ poes 55/5 & 558,84 mﬁf’ —- \
AL SRR AT e \ \
i) \ \ L ‘\?_\ 5 a M| e =\ =Y —// \r T - \
i 776 M2 Y 2 3 a3 <P/ v \
\\\ \ \ \ = e A /0 \v i T \
\ =A% I R\ (R o T YO T e R, [ S S Wy \-
\ 5597 %“ OZ’\’”J \ l ---- \
| \ LC\I\I -—— i 28 | \\
\ | ] \
o @ @ % o \
i\ R \
330 34,50 569,70 L\ |
\ \ | =9\ SR 1068 \
\ iR\ \-\
‘\.\ | \ r \
5588 %7 \ 5 55 1;6\.05 \\
~~~~~~~~~~ B, | \ - ‘.\ A
JJJJJJJJJJJJ 1 i \ —.—
________________ ‘1 E =\ o | Pt
- T AT\ 3 ”
_____________ \ \ \ Ky
---------- VSR e ©
\ O
560.8 \ M
i o \
v
| \
AR R
| - !
'\ \ \
1 |

776 m2 @ +’ o I A Qo 2 %c\l.. % \(\/ ‘. '. \39 561.47 1 069
\ 0 09\ (:l R & “ v
= \ i \ PR a ;\/ )
& ) . 2 \ J— \ E v . P
seijes) |l \ CC:II - :: \ 1
se0ls2 \ i ‘\ ]
\‘ i \ \ i\ MWe—7" o~ Y <« 1
i 34,50 | 4% WA S AR AR R
\ \ N 2 & (o4 56190 B39 \/
7 \ _ g G {8 199
| r— Evh e iRa N
.\ 00 820 e .
.\. 08\' - @ 5 - b
| \ — 2\
! \ \ e ;
3: \ =) 820 \ ”,’J é T2y
N \ B
R23 ) P
sef a0 R24

\ 562.74 1073
\ “ v
! M/"m? 4 QN — /  Se~c el o e
\ o 3 :./e — g SN __——— /NN T e
. \ /:./e/ﬁn #2 -
~ S\ \\ { = 34»50 /_\-" ///Jﬁ/
— \\ﬁ\__‘,\\. \ w - g% = s ‘\Vuo
= o il B W e s v .
=\ = ) AT SN o
- wd £\*\ o 1\ — |
- Q S\ 2 (& - - .
_— -} -\'PS \ \m\\( \\ \ ™ 5 \ ~ /\\ - &L, / : v i 1 1074
’///-/ \ \ = B — 2 \ /// 5 \ < o ) . | |
\.\ \ R ok st 9 //// > \ ;;:—”J / ’ “ "
g VARG o - . - ' Voo
54 \\(M \ \\ X ‘;’,// o > o -
sedaa | \\\\ \ (] / \\ (77N
i \ W L e A / N '
R\ \ p /
AR 7 W AR 4 %0 :
\ \ N 4 | \
‘\ - \ \ A \ \ 565.15
'\ o B 780 m2 S .
AL AR s 898 ~ L
il - N L
R T 11 . 1076
\\ \ T\ B\ | @ 10,72 i \\ \
) A o | ’ \ H
RS *wf" \ | 2 1o éb 094 e e
\ AL e & @ = |
\ \ \
.\‘ \\ o R \ \ \o 20'9\
\ ! \
AR\AVR ol e "
i \ | \ 7
AW i
\. T 7
\ ! 1 \
\l \ \\\R7
\ \
1576 '

566.07

. 1075
L
i



